Ratio to DO

1/0;do/d ®Q

H
o
w

=
o
N

1072

1073

107

107>

10°°

0.5

1960 GeV ppbar

Z (DreII Yan)

*

(pn (muon channel, 1 < IIQI <2)

m DO
--3-- Herwig 7.1.0 default

| IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII

IIII|IIII|||||_u| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|_

—o— MadGraph5 2.7.2.atlas3 lo

—a— Pythia 8.186 default =
----- ¢ Sherpa 1.2.2p default
——++H - H - H =

Rivet 3.1.0, = 7M events

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


